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‘2. Which innovative jobs need to be created to reduce the unemployment rate in India?
piscuss. [8 Marks]
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(3, ATETE AHE & TZHT F7 Aot Fifa ey qr ASE F TATAl F wve it (8 st
| mpaacffba the components of the government budget. Explain the effects of the budget on

| the economy. [8 Marks]
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ﬂ#- Explain the benefits and applications of green hydrogen. (8 Marks]
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Qs. Dﬁ:ﬂblng the objectives of the Public Distribution System, discuss the various problems
faced In its implementation. [8 Marks]
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ﬂ;r Explaining the course of development of land reforms in India after independence, discuss
mdﬁ& [8 Marks]
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a11. Various challenges exist befor
agricultural produce. Suggest wa
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Q12. "Although India at
terms of human develof
recently released Human
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at3. Define Organized Crime? What kl
cecurity? Also, what steps have been take
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Qi4, According to the recant ﬂlﬂhll Gander Gap Mﬂﬁﬂ, 2022 FUHHIHIG by the World
Econamie Fomm 1WEFFI. ihe share of waman In the Al workforce |8 arlb‘ 22%. What efforts
ol bo mada by the gavernment to encourage this? 112 Marka]
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increasing urbanization and industrialization will also increase energy demand. For this,

a1h:
pal s10PS will have to be taken by India to ensure its energy security? [12 Marks]
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q17. The Government of India is undertaking various initiatives for the modemization of the

defence sector, yet its pace is very slow. Have a discussion. [12 Marks|
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q19. Highlight the potential and related issues of 5G technology in India. Also suggest
solutions to these issues. [12 Marks]
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